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1.

A man has certain number of small boxes to pack into parcels. If he packs 3,4,5 or 6 in a parcel, he is left
with one; if he packs 7 in a parcel, none is left over. What is the number of boxes he may have to pack?

a) 301 b) 106 c) 309 d) 400

Find the union of the following sets:
{x|x=0dd integer<15}

{x|x=prime number<15}

a) {1} b) {1,15} c) {1,2,3,5,7,9,11,13} d) {1,3,5,7}
How many permutations of {a,b,c,d,e,f,g} end with a?
a) 72 b) 120 c) 48 d) None of these

How many ways are there to select a first-prize winner, a second prize winner and a third prize winner
from 100 different people who have entered a contest?

a) 1,00,200 b) 98,120 c) 99,700 d) 9,70,200
Evaluate: lim__ X" when —1<x<1.

a)0 b) +o0 C) —© d) No limit exist
Arrange the following items from general to particular:

1. Animal 2. Feline 3. Leopard 4. Mammal 5. Vertebrate 6. Cat
a)1,54,2,3,6 b) 1,4,3,2,5,6 c) 1,354,226 d)1,2,3,4,6,5

In the following series how many pairs of alternate numbers have a difference of 2?

Series: 641228742153862171413286

a) One b) Two c) Three d) Four

How many independent words can ‘DETERMINATION’ be divided into without changing the order of the
letters and using each letter only once?

a)3 b) 1 c) 6 d)2

If A+B means A is the son of B; A-B means A is the husband of B; AxB means A is the sister of B, then
which of the following shows the relation Q is the maternal uncle of P?

a) P+B-RxQ b) P-B+RxQ c) P+BxR-Q d) Cannot be determined
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In a March Past, seven persons are standing in a row. Q is standing left to R but right to P. O is standing
right to N and left to P. Similarly S is standing right to R and left to T. Find out who is standing in the
middle.

a) P b) Q )R d)O

Let f(x) = floor(x*/3). Find f(S) if S={-2,-1,0,1,2,3}

a) {1,3} b) {0,3} c){0,1,3} d) {0,1,2}
If1111=R,2222=T,3333=E,4444=Nthen5555=?

a) W b) X )Y d)Z

A speaks truth in 75% of the cases and B in 80% of the cases. In what percentage of cases are they likely to
contradict each other in stating the same fact?

a) 15% b) 20% c) 5% d) 35%

How many numbers greater than 0 and less than a million can be formed with the digits 0, 7, 8?

a) 486 b) 1084 c) 728 d) None of these

If u, v is the weighted average and m is the natural number such that u™+v™=w", then which one of the
following is true?

a) m > min(u, v, w) b) m > max(u, v, w) ¢) m <min(u, v, w) d) None of these

A dice is loaded in such a way that the probability of getting i on the dice is proportional to i. This dice is
rolled three times. What is the probability of getting a product of 15?

a) 10/1029 b) 14/1029 c) 16/1029 d) 18/1029

A test has 50 questions. A student scores 1 mark for a correct answer, —1/3 for a wrong answer and —1/6 for

not attempting a question. If the net score of a student is 32, the number of questions answered wrongly by
that student cannot be less than

a) 6 b) 12 0)3 d) 9

Let T be the set of integers {3, 11, 19, 27, 451, 459, 467} and S be a subset of T such that the sum of no
two elements of S is 470. The maximum possible number of elements in S is

a) 32 b) 28 c) 29 d) 30
The 288" term of the series a,bb,cococddddeeeee..... is
a)u b) v c)w d) x

What is the remainder when 4% is divided by 6?

a) 0 b) 2 0)3 d) 4
The right most non-zero digits of the number 30 is

a) 1 b) 3 0) 7 d) 9
Let f(x) = 1/(1-x) , g(x) = F(F(x)) and h(x)=F(F(F(x))), then the value of £(x).g(x).h(x) is
a) 0 b) -1 ¢) -2 d) 2

We consider the relation “a person x shakes hand with a person y”. Obviously, if x shakes hand with y,
then y shakes hand with x. In a gathering of 99 persons, one of the following statements is always true,
considering zero to be an even number. Which one is it?

a) There is at least one person who shakes hand exactly with an odd number of persons.

b) There is at least one person who shakes hand exactly with an even number of persons.

c) There is even number of persons who shake hand exactly with an even number of persons
d) None of these
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24. LetP, Q, R, Sand T be statements such that if P is true then both Q and S are true, and if both R and S are
true then T is false. We then have
a) If T is true then both P and R must be true
b) If T is true then both P and R must be false
c) If T is true then at least one of P and R must be true
d) If T is true then at least one of P and R must be false

25. In the following series , find the missing number
90, 180, 12, 50, 100, 200, ?, 3, 50, 4, 25, 2, 6, 30, 3
a) 150 b) 175 c) 225 d) 250

FOR ROUGH WORK
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